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rate/cell by loop module 1D
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difference between noise rate and mid-tray fit
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rate/cell by tray module 1D, TrayIDinLoop=0
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rate/cell by tray 1D
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nHits/ev, ToT range |
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Rate (Hz) vs (BL,strip-posn), Run=16031007

20

-
-

0 B N I B |

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30




E o - 120 80
- 250 =
8o [ o 100
o 200 8
60 = E
o e 60
o E
F 100 "
“ -_ (\{W\ “F *
L I 1 1 1 1 1 I 1 I I 1 1 1 1 1 1 1 1 1 1 1 Il
S otttk C O I RS s N -t -ty by oty
0
120
E
100
B
Y = B
I 2 B
o
B
L s L )y L L L y L L y L L L L L s L
F N TR [ oo 150 T
s
s
uf=
2
wE
sf
B
4
2
)y L L L L L L L L L L L L L
T 0 et oo ia0 E N - T 10
5= 60 a0
E 120~
] = = F
E 100
- 40 -
= w
E 30 F
60
10
2
S 10
1 ! ! \ | ! ! 1 ! ' 1 L ! | ! ! 1 ! 1 ! '
" DL v R A ' ottt & S S S S ey
600~
soo -
00~
300~ o F
200~ o=
L L L L s L L L s L L L L L
20 a0 6 B 100 10 g0 160 180 0 W0 B0 D0 10 0 0 180 0
= E —
°E 180 = E
o E o
E o L
50 = F o
E 120~ E
E E 50 -
wf wof- L
F E 40 -
0 o -
E E 20 o
E o [
2 E
= 40 B —
10 20 L
E I I L I I L L I L I L I I I I L L I L L I L I I L I I L L L
P I T e e R ] T T Rt E R R L (R




= = = =
L1-1 Foiis Foiis BL1-4 Foiis
= = =s =
W E BL2-2 EBL2-3 24 75
—— = —— = = )
L3-1 ] Fois-2 FBL33 Esios B Eolss
= ————— = =
E;m-l Fouaz FoLas KBL4-4 | FoLas

L
EELS-l BL5-2 BL5-3 “_‘hﬂ E BL5-4 BL5-5
————— = = ————— = S — = ———
L6-1 BL6-2 E BL6-3 E BL6-4 _j E BL6-5
= = — = . ——— = —————
L7-1 E BL7-2 E BL7-3 BL7-4 —1 BL7-5

L

by 1 [ Psbo fehs 1 [ Bes | [ |

| |

= [ = | | == } ==}
= —————
L10-1 E BL10-2 EBLlO-S BL10-4 EBLlO-S
= = —— = ———— =
E‘E;Lll-l EBLll-Z Esul-s EBL11-4 ‘1 BL11-5
= = = = — =
EBLlZ—l | EBL12-2 j EELlZ—S \ EBL12—4 EBL12—5 |
= = = =
EBLl?:—l | EBL13-2 EBL13-3 T BL13-4 EBL13-5 |
= — = = =
EBL14-1 | EBL14-2 | EEL14-3 ﬂ E BL14-4 EBL14-5 |
= = — = = = =
EBLlS—l | FBLis-2 | EBL15—3 \ EBL15—4 EBL15-5 |
= = = =
EBL16—1 | BL16-2 E BL16-3 E BL16-4 EBLlG—S |
= = = =
EBLl?-l | BL17-2 BL17-3 BL17-4 EBL17-5 |
= = = =
EBLlS—l | E BL18-2 BL18-3 T BL18-4 EBL18—5 |
= = = =
EBL19—1 | BL19-2 EBL19—3 EBL19—4 EBL19-5 |
= = = =
EBLZO-l | E BL20-2 BL20-3 BL20-4 EBLZO-S |

s '_‘_l_.—7 =
EBL21-4 T BL21-5
BL22-4 BL22-5
= =
EB[24-4 EB[24-5 |____,_._1

= = ———
E:gL21-1 EBL21-2 E BL21-3
— T E T ——
EBLZZ—l E BL22-2 E BL22-3
=
E EL24-1 EBL24-2 | EBL24-3 —|
= = — = =
EELZS-l BL25- E BL25-3 EBL25-4 EBL25-5
r = = ——— = =
EBLZG-l E BL26-2 BL26-3 E BL26-4 BL26-5
= =] =
EBTZ?—l E BL27-2 BL27-3 BL27-4 EBL27—5
T e e e e
EBT_zs-l EBLzs-z ﬂ BL28-3 E BL28-5
(=] (=] (=] (=]
E|E_§L29-1 E BL29-2 E BL29-3 BL29-4 EBL29-5
= = = =
L30-1 E BL30-2 ! BL30-3 EBL30—4 EBLBO—S

ol
u

0

NN=NN

I
0
0
o
0




‘:'El_rL'_l BLCZ2-T
'—I = | |
:Elﬂ_rl—"l BL3-1
o
B, o
BL5-T

BL6-1

BL/-1

BL3-1

BLTO0-I

BLII-T

I

BL1IZ-1

I

BLTI3-1

[

BL14-T

I

BLI5-1

[

BLIb-1

BLI/-1

[

BLIs-1

[

[

|

T ) ] ) ) ey e ey ey ey

[

R, T
P, . o ]
:EIJ_L'—LH_,_ BLZ7-T |
I
ErrL'—Lq BL2Z9-T |

| -
BL30-T |

L
IR S S
I sl
e, |
e,
IR ST
_ba, |
I
‘:'ElJ_LI_l_'—L'_' BLIU-Z |

——

‘:'E |IL'—|—|_._._ HBLLS-Z J
IR S
EE |IL'—|—._,_ BLI5-Z |
R S
IR S
s
IR el
EE |IL'—|-—| BL20-2 |
EE |J_L'—|_.—|., BL21-2 |
=E IJ_L'—I—"L.—._,_ BL22-2 |
R S
=E|IL'—|—|-. ) BL25-2 |
=E IJ_L'—I-"I—._ BLZ6-2 J
:E |J_L'—|-l‘|_.-| BLZ7-Z J
ke |

=

TP
T,
N P
N PG
T
N LT

P, |
I T
‘:'ElJ_L'—LI—L,_I_ BLT0-3 |

ElJ_L'—LI—L,_I BL11-3 |
‘:'El_rl—'—l_'_l_‘ BL1Z-3 |

ElJ_I—I_I_| BL13-3 |
:ErrLl_l - BL14-3 |
='E|J_I—I_I_u_| BLI5-3 |
I
I G
N
='E|J_L'—I—l‘|_,_| BL19-3 |
EEIJ_L,—L_LH BLZ20-3 |
='E|J_L'—|—l—|_,_| - BLZ1-3 J
='E|J_L'—|_l‘|_l_ BLZ2Z-3 |
='E|J_LI_|_,_| BLZ24-3 |
='E|J_L'—|_|—|_'_|_‘ BLZ5-3 J
='E|J_L'—I_|—|_,_| _ BLZ6-3 |
‘:'EIJ_L,—L'_LH— BLZ7-3 J
‘:'ElJ_L'—I_,—L'_' BLZ8-3 |

e

R ST

= ElJ_L'—L.—l_‘_' BLCZ2-4
=

= EIJ_L'—L"L-—. BL3-4

= ElJ_l_rL'L BLZ-Z

= EIJ_L'—L"I BL5-4
| |

= EIJ_L'—L'—L'_l BL6-4

‘='E T j BL7-4

= E|IL'—|—._._, BLS-4

= E|_|-|_,_|_'_L'_I BLCI0-4

- ErI_L'—L'—L"I_._._ BLM_4

== E|_|—|_,_|_L BLIZ-2

= ElJ-L'_l BLI3-Z

= E|J_L'—|_.—| BLIZ-4

= ElJ-L'_l BLI5-Z
|

“Hh, o

='E|J_L'—|_.—| BLCI7-4
-

= EIJ—L'_L'_L‘— BL18-4

= EIJ-L,—L'_l BL19-4
I —

== E |J_L'—|—-| BL20-2
-

|
|
|
|
|
|
|
|
|
|
|
]

‘='E BL21-Z

= EIJ—L'_L'_L‘— BLCZZ-4

= E |J_L'—|—-|_ BL24-%

= E M BLZ5-Z

TR,

= ErrL'—L'"L.-. BLZ7-2
, P

P

= E IJ_L'—I-I‘I_ BL28%

= E |J_L'—|--| BLZ94

(=] EMUA

|
|
|

I

I

[

I

[

[

[

[

FTT) ) T Ty [ T [ o) [

I PO
=E|J—L'—L"I_, BLCZ5 J
i TG
| T
I TP
.. ]
“EY.., T ]
o,
':'E IJ_L'—L'"Ln BLI0-5 |
‘:'EIL'—L"L.—. BLII5 |
BLIZ2-5 |

BLI3-5 |

BLI4-5 |

BLI5-5 |

BL1b-5 |

BLL/-5 |

BL1G-5 |

BL19-5 |

BL20-5 |

“He, T
‘:'E |J_Lr|—| BL775 |

=
"B T ]
‘='E IJ_Lrl_n_ BLZ55 |
:E |ILI_|—._ BLZb—E'J_‘ = |
.. T
TEE. T ]
‘:'E IJ-L|_| BL2Z95 |
o
BL30-5 |

TR




CEE—
"B ———
"B ——

E_—= ]

000 1

I

00001

[
I




o0 25000 16000

12000 16000
8000 20000 14000
10000

20000

12000
6000 8000 15000

15000 10000

6000 8000

2000 10000
6000
4000
2000 5000 5000 000
2000

2000

ToT BA ToT BL2 ToT BL3 ToT BLS

L7 To

50000

30000 5000
50000
25000
4000
40000
20000
3000
30000

15000

10000 20000

s000 1000 10000

§ 1|

o

\j

us]

-
}m
—

s e s
\f

5

LA RALAS LAAAD LAAAS LAAR) LARS B
|iu

=

(e0]

\iﬂ

=

F ©
—

T 2|
\ia

=

=

o

E

_|
o
_'
@
—
=
al

25000

20000

_'
(@]
: v ©,
W
e
=
E‘A
e ©,
w
e
=
N
¢ s 238 885 8|[d
WA RAR LR LA AL LR R L LA —
W
I
[
w

y n s n
0 o £ Ly e E ™o e £ £ £ E

4 —
0 g 30 0 e

To TOT BL19

1

5000

4000

1500

ToT W ToT BL17 T BL18

3000
1000

2000

1000

Ly 0

ToT BL21 '

25000

TOT BL24

7000
6000
5000
4000
3000
2000
1000
s

20000

15000
15000 =

E 10000
10000 =
N = 5000

—

RAASRALEIR AN ELEE A o 9|
\ij

=

N

N

s 2 s s =

2 - h i (]
URAE B AR R R el
\ij

=

N

w

%0 E3 0 20 30 70 e E

&

e -—, r
E 16000 £= 10000 f= 18000
10000 |- 1a000 - E 16000 -
o 12000 = 000 = 14000 =
8000 [~ F - E
E 10000 = o 3
o E so00 |~ E
o E F 20000 -
a0 a000 - E E
o E F so00 =
F E a0~ E
4000 = 6000 E r 6000 =
o 4000 = o E
F E w0 -
2000 f~ E 2000 = “E
E 2000 = F 2000 =
- 1 1 1 1 L 1 o 1 L 1 C 1 e 1 E 1
0 10 20 30 a0 50 70 30 70 50 & 00 10 20 30 0 50 E 10 70 30 0 50 o 0 10 20 30 40




—




_strip12

hmtdhitz_tota_strij

_strip6

hmtdhitz_tota_stri|

_stripL

hmtdhitz_tota_strij

10 15 20 25 30 35 40 45 50 55

i f

il _j _._
.iw.“__ _E, _

10 15 20 25 30 35 40 45 50 55

5

hmtdhitz_totb_strip12

5

8 | i
o ___ 1 B
3 ____ ___ | . 1 1 n
% ____-__ __ __ | __ : : _ -_ %
o ____;ZFU== R _ S
o <
o )
o &
o &
- o
o Y
0 3
- S
o 8
_%J I L
I U I ! . i ;
n_ 1 LR Qo N
F. m___ I 1 h__ _ T_.__ f - :
hz_: _ _f_ __Jh_ __==: “_J__ i_____ ? )
I Ve ' !
| .“&1. i ,_;_ __;___ ! _F_ Iy & &
K _ gt Tt
AN DL P L 8 :
Ak :f__ i ) :
V *____ 't __T_ ! | _r__ __ Ty :
] } _==_E:=z_ h -
y_ < _.____F____hli E_-_i_ﬁ _?ﬁ# Q )
I F_F23= %# - ¢
_1________ ___.__ [] 0 =
Fr : Li_ - :
N = -
I _1

5

hmtdhitz_totb_stripl

5




htotm_stripl

30000

25000

20000

15000

10000

5000

S NEETA ARTNE SNETE SRR

hmtdhitz_totm_stripl

Ll IIIIIIIIIII
QS 10 15 20 25 30 35 40 45 50 55

20 25 30 35 40 45 50 55

htotm_strip6

70000

60000

50000

40000

30000

20000

10000

IIIIIIIIII 1 II_I-L_IIIIIIIIIIIIIIIIIII

5 10 15 20 25 30 35 40 45 50 55

15 20 25 30 35 40 45 50 5

htotm_strip12

40000

35000

30000

25000

20000

15000

10000

5000

b L by b

o

hmtdhitz_totm_strip12

10 15 20 25 30 35 40 45 50 55

20 25 30 35 40 45 50 55



htotm_stripl

30000

25000

20000

15000

10000

5000

L1l NETIRE NN S NEETA ARTNE SNETE SRR

oL

hmtdhitz_totm_strip1_norm

10 15 20 25 30 35 40 45 50 55

2

A =

III—I_ITIIIIIIIIIIIIIIIIIIIIII

5

10 15 20 25 30 35 40 45 50 55

htotm_strip6

70000

60000

50000

40000

30000

20000

10000

IIIIIIIIII 1 II_I-L_IIIIIIIIIIIIIIIIIII

al

hmtdhitz_totm_strip6_norm

10 15 20 25 30 35 40 45 50 55

IIIIIIIIIIIIIIIIIIIIII_II]IIIIIIIIIIIIIIII:IIIIIIII

5

10 15 20 25 30 35 40 45 50 55

htotm_strip12

40000

35000

30000

25000

20000

15000

10000

5000

i

b L by b

o

hmtdhitz_totm_strip12_norm

10 15 20 25 30 35 40 45 50 55

5

10 15 20 25 30 35 40 45 50 55



55

50

45

40

35

30

25

20

15




= ::EBle-b
= ;EULJA-O
= ;:EBle-b
= ;Euub-b

=

= Esle-l

001

I

10 1
100

-

L

[ [

000

T



